AZ 2B A (193 /2] 7 8)

T A (wh2] @A)
= o i=]
woprg A% | BA | AT RERE % A% BES 1A%Relr | gl | g
%) 388,743 58,376,910 58,765,653
s 15,348 53,186,317 53,170,969
SolUxZ=g S 220,348 46,034,073 46,013,725
ASFSTEA Y 1,551 2,385,022 2,386,573
FTR S B X 218,249 1,445,866 1,427,617
ASHAEAA Y 218,249 1,427,758 1,409,509
1. JAATZZ 1 HLY 218,249 408,266 390,017
7}, Q1A 18,249 354,266 336,017
1) doluly z A} 44,666 309,922 265,256
7h ¥ 110-03 |187,200,000€ — <7]7%>218,400,0009 = ~31,200 218,400 187,200
) FAA LN 110-03 |36,000,0009 — <7]14>42,000,000¢ = 6,000 42,000 36,000
o) AlTFA k] QD A A ok 15 AFH) 210-15 15,000,000 — <71%>17,500,0009= 2,500 17,500 15,000
) §5AZ 320-05 |9,440,0009 — <7]%>11,800,0009 = 2,360 11,800 9,440
) 4t RE ) PR G 320-05 |15,636,0009 — <714>18,242,0008= 2,606 18,242 15,636
2) Al A B 26,417 44,344 70,761
7h) A=k 110-05 |63,600,0009 — <7]%>36,000,000¢ = 27,600 36,000 63,600
) Az 110-05 |09 — <71%>1,265,0009= 1,265 1,265
o 5892 320-13 |09 - <71%>3,000,0009 = ~3,000 3,000
2 4R 7 BRI 320-13 |7,161,0009 — <7]%>4,079,000¢ = 3,082 4,079 7,161
ELaS 0 216,913 216,913
ELFngey 0 216,913 216,913
1. a8 X AAE LY 0 216,913 216,913
b ES A A AEH S 106,243 106,243
D STuSA A L-F 84,838 84,838
7hH W) (A AEE) 420-03 7,680,000 x 6= 46,080 46,080
) W) (A AEE) 430-01 |09 — <7]14>46,080,0009= A46,080 46,080
SRR = 19,800 195,906 215,706
S ZPotd uS 19,800 79,136 98,936
IR ATAS ) B 19,800 79,136 98,936
7F stw e g A4 o] 9 Y 5o 9,000 35,936 44,936
1) &5 210-01 |11,700,0009 — <714>9,000,000¢ = 2,700 9,000 11,700
2) HA 2=} 6,300 21,000 27,300




9]

A

bl e L &gy B s E A B K BN & A
210-06 |18,200,000¢ — <714>14,000,000¢ = 4,200 14,000 18,200
210-06 |9,100,0009 — <71%>7,000,0009 = 2,100 7,000 9,100
10,800 43,200 54,000
1) ZAF=Tr 210-06 |54,000,0009 — <714>43,200,0009 = 10,800 43,200 54,000
116,133 4,375,008 4,491,231
ASEX A 116,133 1,503,775 1,619,908
AR 116,133 1,117,275 1,233,408
1 2T AT A Y 116,133 1,117,275 1,233,408
= 116,133 849,512 965,645
21012 |215,549,0009 — <71%>194,715,0009 = 20,834 194,715 215,549
210-12 |263,467,0009 — <71%>168,968,000¢ = 94,499 168,968 263,467
210-12 |6,199,0009 — <7]%>5,399,0009 = 800 5,399 6,199
346,240 6,288,463 6,634,703
=Sk ] 346,240 6,281,251 6,627,491
A= 22,205 3,433,122 3,455,327
21,347 2,825,785 2,847,132
A5,432 64,539 59,107
62003 |59,107,000¢ — <714>64,539,000¢ = A5,432 64,539 59,107
620-03 |837,642,0009 — <71%4>812,317,0009 = 25,325 812,317 837,642
A18,619 628,627 610,008
620-03 |547,591,0009 — <71%>566,283,0009 = A18,692 566,283 547,591
620-10 |62,417,0009 — <714>62,344,0009 = 73 62,344 62,417
24,652 683,368 708,020
620-03 |370,838,0009 — <71%>352,025,0009 = 18,813 352,025 370,838
620-10 |337,182,0009 — <71%>331,343,0009 = 5,839 331,343 337,182
620-03 |23,994,0009 — <714>28,573,0009 = A4579 28,573 23,994
858 514,010 514,868
620-03 |12,669,0009 — <714>14,506,000¢ = A1,837 14,506 12,669
620-03 |181,432,0009 — <71%>179,070,0009 = 2,362 179,070 181,432
A1,630 159,987 158,357
620-03 |143,476,0009 — <71%>145,112,0009 = A1,636 145,112 143,476
620-10 |14,881,0009 — <714>14,875,0009 = 6 14,875 14,881




AT AA (9] H9)
2 o) 1=
woprg A% | BA | AT AL ] 2 A= RENE 14240l | AR | @A
2, 158w 2,297 154,154 156,451
1) &4 62003 |80,823,0009 — <71%>78,901,0009 = 1,922 78,901 80,823
2) A 620—10 |75,628,00091 — <717%>75,253,0009= 375 75,253 75,628
u}, E2=8ky 620-03 |5,959,0009 — <7]%>6,293,0009 = ~334 6,293 5,959
s uFA G NA 324,035 2,848,129 3,172,164
1. St FA 7| FHA A E S 324,035 2,848,129 3,172,164
7F =g 7T A 204,830 275,507 480,337
1) 429 620-04 |14,000,0009 — <714>12,450,0009= 1,550 12,450 14,000
2) 258w 62004 |248,793,0009 — <714>147,810,0009= 100,983 147,810 248,793
3) s8tw 17,942 36,416 54,358
7hH 29 62004 |54,358,0009 — <71%>36,416,0009 = 17,942 36,416 54,358
4) =8y 74,415 75,631 150,046
7hH 29 62004 |70,286,0009 — <71%>40,725,0009 = 29,561 40,725 70,286
) A 620-11 |79,760,0009 — <714>34,906,0004= 44,854 34,906 79,760
5) E4=8kn 620—04 |13,140,0009 — <71%>3,200,0009 = 9,940 3,200 13,140
U J32AA A d st 119,205 2,571,023 2,690,228
1) 2 Ag37) 8] 119,205 2,516,143 2,635,348
7hH Fd ez 29,624 14,405 44,029
(1) A 420-03 |1,894,0009 X 145.9m X 10%= 27,634 27,634
(2) A A By 420-05 |276,335,0009 X 0.72%= 1,990 1,990
W) oty = 23,451 13,074 36,525
(1) Al 420—03 |1,894,0009 X 115.5m X 10%= 21,876 21,876
(2) A F-din] 420-05 |218,757,0009 X0.7198%= 1,575 1,575
oh el x 42,740 17,517 60,257
(1) AAH| 420-03 |1,894,0009 X 210.5m' X 10%= 39,869 39,869
(2) A Ay 420-05 |398,687,0009 X 0.72%= 2,871 2,871
b sh2shw 23,390 13,060 36,450
(1) A2 420-03 |1,894,0009 X 115.2m' X 10%= 21,819 21,819
(2) A2 F iy 420-05 |218,189,0009 X 0.72%= 1,571 1,571
s A F A A #e 240,377 17,535,389 17,775,766
LA R P R 182,949 15,478,076 15,661,025
EEETEEE 182,949 15,478,076 15,661,025
W& - folREFE RS — AN AR - duedn g - Suedn e




T A (wh2] @A)
= o i=]
woprg A% | BA | AT RERE % A% BES 1A%Relr | gl | g
1. w7 L8491 66,094 14,386,108 14,452,202
7}, fx 9 620—02 |1,169,495,0009 — <71%>1,400,437,000¢4 = AN230,942 1,400,437 1,169,495
U 258 620—02 |9,031,377,0009 — <714>8,769,290,000¢ = 262,087 8,769,290 9,031,377
o}, 28 620—02 |4,251,330,0009 — <714>4,216,381,00091= 34,949 4,216,381 4,251,330
2. sta 7| ele-9gn x4 116,855 1,091,968 1,208,823
7}, wZEs ol A A 116,855 891,968 1,008,823
1) 2538w 620—04 |672,648,0009 — <714>615,793,000€= 56,855 615,793 672,648
2) =8k 620—-04 |259,175,0009 — <714>239,175,0009 = 20,000 239,175 259,175
3) E4dy 620—-04 |52,000,0009 — <71%>12,000,0008 = 40,000 12,000 52,000
AYHA A <)Y 57,428 2,057,313 2,114,741
AAN AR ATA Y 52,706 1,444,946 1,497,652
1. AAB AR AT R = 52,706 1,444,946 1,497,652
7]_‘ Q_]ﬁ}j]x] %_] 620—08 |1,497,652,0009¢ — <71%>1,444,946,000¢4 = 52,706 1,444,946 1,497,652
LAn| AR ATX Y 4,722 612,367 617,089
1. £Yn| AR AT R = 4,722 518,319 523,041
7}, B 7] E-g-oH] 620—-09 |523,041,0009 — <714>518,319,0009 = 4,722 518,319 523,041
St A AN AT24,649 15,360,068 14,635,419
st w A ANA AT24,649 15,360,068 14,635,419
S A A EANA AT24,649 15,005,580 14,280,931
1. AAFRSA 88,970 2,066,047 2,155,017
7}, w4 75,960 75,960
1) A]An) 75,960 75,960
7hH G L= X (34 420-03 12,660,000 x 64 = 75,960 75,960
U, e)euigelp S 13,010 872,571 885,581
1) AA2H] 13,010 843,707 856,717
7} o]ul = (WH) 620—04 |13,010,000¢ x 14 = 13,010 13,010
2. N A ANA 610,913 4,341,358 4,952,271
7F R B} 102,600 102,600
1) WA 5H 7} 102,600 102,600
7h ®8%(170.68m’) 420-02 |12,400,0009 x 14 = 12,400 12,400
W) A4 % (270%,893m") 420-02 |37,000,0009 x 14 = 37,000 37,000
h S99 %(165.1m) 420-02 12,400,000 x 14]= 12,400 12,400
LE - FolREF SRS — STwA M AN — StmAAAN - ST A HA A




A A (2 - 2 4)
woprg A% | BA | AT el B RENE 1437004 | AGele | @

2h) AHE % (700.82m) 420-02 16,000,0009 x 14] = 16,000 16,000

b)) 5% (183.6m) 420-02 |12,400,0009 x 14 = 12,400 12,400

vh) A= (183.6m') 420-02 |12,400,0009 x 14 = 12,400 12,400

(R RR AR RASEIVN S 138,194 138,194

1) A4 138,194 138,194

7h Ak % (691.36m") 420-03 |131,194,0009 x12]= 131,194 131,194

W) sk ukEAkar (1,056 m) 420-03 |7,000,000¢] x 121 = 7,000 7,000

t}. =eEfolH| E w A 203,625 3,645,545 3,849,170

1) AAn] 420-02 [86,401,0009 — <71%>78,972,0004 = 7,429 78,972 86,401

2) Al7dn] 194,776 3,554,664 3,749,440

7H e x 420-03 |24,347,0009 x 821 = 194,776 194,776

3) A F-ov] 420-05 13,329,000 — <71%>11,909,000¢ = 1,420 11,909 13,329

g, M= X3l d w A 166,494 166,494

1) Al4dn] 165,200 165,200

7h § 3= 420-03 |33,040,0009 x 124 = 33,040 33,040

) Akl 420-03 133,040,0009 x 14 = 33,040 33,040

o $5x 420-03 133,040,0009 x 141 = 33,040 33,040

) TAx 420-03 |33,040,0009 x 241 = 66,080 66,080

2) A2 F-of 8] 420-05 |165,200,0009 X0.783%= 1,294 1,294

3. AF-FAANA 34,200 839,475 873,675

7}, w2 34,200 201,081 235,281

1) AlAH] 34,200 188,100 222,300

7h old % 620-04 |570,000¢ X 20m= 11,400 11,400

W) Feol 620-04 |570,0009 X 40m= 22,800 22,800

4, JHRANEAF A1,458,732 5,932,233 4,473,501

7h ez AT760,456 1,502,118 741,662

1) AAH] 420-03 481,204,000 — <714>981,204,0009 = 500,000 981,204 481,204

2) 7+ 420-04 |252,555,0009 — <71%>505,109,000 = A252,554 505,109 252,555

3) A Hon] 420-05 |7,903,0009 — <7]%>15,805,0009 = AT7,902 15,805 7,903

1R = i ~292,302 2,069,075 1,776,773

1) 2 420-04 |283,518,0009 — <714>567,036,00094 = ~283,518 567,036 283,518

2) Al E oy 420—-05 |8,785,0009 — <714>17,569,000¢ = NB,784 17,569 8,785

WE - folREFE WS - FAAMAAAY - FWAMAY - FAALBFAN




Hof HE ck &4 Al Aty o 2_A= A& o 1 X7 o) Ak 717 o Al-H 3k A
= TAY A A a o = B e o e H
ok gdo A405,974 2,361,040 1,955,066
1) g 420-04 1394,192,0009 — <7]%>788,383,0004= ~394,191 788,383 394,192
2) A2 E ] 420-05 [11,784,0009 — <7]1%>23,567,0009 = A11,783 23,567 11,784
SRk 5,000 7,150,714 7,155,714
IHPP ARt 3,200 6,167,125 6,170,325
VAR o g R PR R 3,200 102,669 105,869
PANAEFTA 3,200 102,669 105,869
1. G PFALAE LY 3,200 86,873 90,073
7}, W42 4 7 210-01 |8,000,000¢ — <7]%>6,000,0004 = 2,000 6,000 8,000
. WA A A 1,200 1,200
1) H9l3l 230-02 [15,0009 x 10417+ x 88] = 1,200 1,200
718329 1,800 983,589 985,389
71 E-2-gH 1,800 899,940 901,740
71# 71829 1,800 899,940 901,740
1. FIAESTHAEH 2D 1,800 154,241 156,041
7t 7] 32 H] 1,800 154,241 156,041
D) A= e 1,800 11,021 12,821
7D 3F A E T §) 210-13 900,0009 x 28] = 1,800 1,800
of| ] 8] 104,236 0 104,236
of 1] 1] 104,236 0 104,236
of BB W 7] E} 104,236 0 104,236
o v n) L 7] e} 104,236 0 104,236
AAEST 104,236 0 104,236
1. AXNEES 104,236 0 104,236
R b T e o R R 104,236 104,236
\ 1) 25suWaSIzz J3x9 710-02 |29,976,0009 = 29,976 29,976
C2) dsETAS T 710-02 |224,0009)= 224 224
‘ 3) s7|F g8 %< 710-02 |74,036,0009= 74,036 74,036
7] ek 299,855 5,190,593 5,490,448
Q1AH] 299,855 5,190,593 5,490,448
Q17 299,855 5,190,593 5,490,448
ZEA1AH] 299,855 5,190,593 5,490,448

71BF — QIZAH] — M) - ZFEARJIAN] - AAEZET




oo 5 - 5
ol RERE ENE Az LAFRA | AR | g
1 An| 299,855 5,190,593 5,490,448
LS5 ANFE 299,855 5,190,593 5,490,448
7} 8] (Wee) Al EJALS] H- 2] AFQI 71 1] 3,897 52,171 56,068
1) 7183 110-04 |27,192,000¢ — <71 4>26,232,0009 = 960 26,232 27,192
2) 573 110-04 |8,640,0009 — <71%>7,020,000¢ = 1,620 7,020 8,640
3) WAFIIRAF 110-04 |1,850,00090 — <71%>1,700,000¢] = 150 1,700 1,850
4) Azpor 110-04 |2,627,0009 — <71%>2,460,000¢ = 167 2,460 2,627
5) HAAYT 320—12 |5,000,0009 — <7]14>4,000,000¢ = 1,000 4,000 5,000
. 9l (Wee) AlH A 2l AFQI A ] 2,257 45,149 47,406
1) 718+ 110-04 127,192,0009 — <7]4>26,232,0009 = 960 26,232 27,192
2) WAFIIR A 110-04 |1,850,0009 — <714>1,700,000¢1 = 150 1,700 1,850
3) Ax}gor 110-04 2,184,0009 — <714>1,387,00091 = 797 1,387 2,184
4) Y& EH2 1] 240-02 1,000,0009 — <714>650,0009 = 350 650 1,000
t}. 9 (Wee) Al E] A A ARO 7 1) 20,914 99,217 120,131
D 7185 110-04 |54,384,0009 — <7|4>52,464,0009 = 1,920 52,464 54,384
2) 45T S 110-04 28,800,0009 — <7]4>11,466,0009= 17,334 11,466 28,800
3) WEFIIRAF 110-04 3,700,0009 — <714>3,400,000¢ = 300 3,400 3,700
4) ZIpr=ct 110-04 |3,520,00090 — <71%>3,310,000¢] = 210 3,310 3,520
5) A A= 320-12 19,150,0009 — <7]14>8,000,000¢ = 1,150 8,000 9,150
2}, Z 8 A kA X EAFQI A 1] 29,484 544,491 573,975
1) 7183 110-04 |258,250,0009) — <7]1%>248,250,000¢) = 10,000 248,250 258,250
2) 573 110-04 |62,254,0009 — <71%>60,138,0009 = 2,116 60,138 62,254
3) WAZIIH AT 110-04 |46,250,0009 — <71%>42,500,0009 = 3,750 42,500 46,250
4) AxSoF 110-04 25,568,0009 — <7]8>21,383,0009= 4,185 21,383 25,568
5) H§AAT 320—12 145,332,0009 — <7]%>38,263,0009= 7,069 38,263 45,332
6) 4t K& 7| B 320-12 |54,971,0009 — <71%>52,607,0009 = 2,364 52,607 54,971
vl v] 3t 1A (WS4 L H) 2,250 32,512 34,762
IR 110-04 121,813,0009 — <7]4>20,853,0009 = 960 20,853 21,813
2) §AFIIRAF 110-04 |1,850,00091 — <71%>1,700,000¢] = 150 1,700 1,850
3) Az 110-04 [1,903,0009 — <71%>1,183,0009 = 720 1,183 1,903
4) AR 7| BRI 320—12 |3,627,0009 — <7]14>3,207,0009 = 420 3,207 3,627
v, vk el An] (k) 24,251 779,262 803,513




[e)
ol el B RENE 14240l | AR | @A
D 7129 110—-04 |477,763,0009 — <7]14>459,262,0009 = 18,501 459,262 477,763
2) F21n) 110-04 55,500,0009 — <7]%>56,400,000¢ = ~900 56,400 55,500
3) 7tEard 110-04 [8,200,0009 — <71%>5,800,000¢ = 2,400 5,800 8,200
4) HAFIIR AT 110-04 61,050,0009 — <71%>56,100,000¢ = 4,950 56,100 61,050
5) @& 22 240-02 30,300,000 — <71%>31,000,0009 = AT00 31,000 30,300
A}, A F RO 71 H) 180,516 2,408,395 2,588,911
D 712w 110-04 |1,157,704,0009 ~ <714>1,120,104,0009= 37,600 1,120,104 1,157,704
2) 2&5 110-04 |518,266,0009 — <71%>420,966,000¢ = 97,300 420,966 518,266
3) 7t=Eard 110-04 25,680,000 — <7]1%>22,680,000¢ = 3,000 22,680 25,680
4) WHF7IRAF 110-04 86,950,0009 — <7]%>79,900,000¢ = 7,050 79,900 86,950
5) Axpsor 110-04 |132,780,0009 — <7]4>114,869,0009 = 17,911 114,869 132,780
6) 4K 7| AP 320-12 |228,116,0009 — <7]1%>210,461,0009 = 17,655 210,461 228,116
o}, 3}8FA ALl 71 1] 1,854 56,545 58,399
D 7185 110-04 |24,792,0009 — <7]%4>23,832,0009 = 960 23,832 24,792
2) <559 110-04 11,040,000 — <71%>10,296,0009 = 744 10,296 11,040
3) HAFIIRAF 110-04 |1,850,0009 — <71%4>1,700,0009 = 150 1,700 1,850
2}, F-8kE w5 A ol A (8F 1w 12,060 212,095 224,155
D 7129 110-04 [117,784,0009 — <714>111,417,0009 = 6,367 111,417 117,784
2) 2&en 110-04 9,817,000 — <714>9,285,000¢ = 532 9,285 9,817
3) 7|etrd 110-04 33,100,000 — <717%9>33,119,000¢= A19 33,119 33,100
4) HAFIIR AT 110-04 |11,779,0009 — <71%>11,142,0009 = 637 11,142 11,779
5) 23R 110-04 [9,276,0009 — <714>4,733,000¢ = 4,543 4,733 9,276
b, AFEA SAFOL A B (BF 1) 1,415 50,586 52,001
D 71¥s 110-04 |24,792,0009 — <7]14>23,832,0004 = 960 23,832 24,792
2) &5 110-04 |9,600,0009 — <714>9,360,000¢ = 240 9,360 9,600
3) 7letr 110-04 |5,400,0009 — <714>5,335,000¢ = 65 5,335 5,400
4) YAFIIR A 110-04 |1,850,000¢ — <71%>1,700,000¢] = 150 1,700 1,850
7h Al el A1 An] (8 ) 27,333 620,415 647,748
D 7185 110-04 |406,428,0009 — <71%>393,228,000¢ = 13,200 393,228 406,428
2) WHF/IRAZ 110-04 40,700,000€ — <7]1%>37,400,000¢ = 3,300 37,400 40,700
3) A5 110-04 |27,266,0009 — <7]%>23,585,000¢ = 3,681 23,585 27,266
4) A2 320-12 48,115,000 — <71%>41,620,0009 = 6,495 41,620 48,115

M - 2RAIAN - WEFEH A




A s A (1 49
2 o) 1=
woprg A% | BA | AT RERE % A% BES 1A%Relr | gl | g

5) AR N AR GF 320—12 [40,999,000¢ — <71%4>40,342,000¢ = 657 40,342 40,999

E}. 3 4 A FAFol A H] 2,444 50,683 53,127

1) 71 2F 110-04 |24,792,0009 — <7]17>23,832,00098 = 960 23,832 24,792

2) L&) 110-04 [10,236,0009 — <71%4>9,516,0009= 720 9,516 10,236

3) HAB IR A 110-04 |1,850,000€ — <71%4>1,700,0004 = 150 1,700 1,850

4) AR 110-04 |3,216,0009 — <71%>2,602,000¢ = 614 2,602 3,216

b, Al FE] A ] (F A A P g5 AlE) 2,211 34,094 36,305

D 715 110-04 |24,792,0009 — <71%>23,832,0009 = 960 23,832 24,792

2) EFIIRAT 110-04 |1,850,000€ — <71%3>1,700,0004 = 150 1,700 1,850

3) HRAAHT 320—12 |2,770,0009 — <7]1%>1,750,0009 = 1,020 1,750 2,770

4) AR N AE G T 320—-12 |2,049,0009 — <71%>1,968,0009= 81 1,968 2,049

ab. mjskdlzin] (Fof A sz AlH) 932 24,362 95,294

D 715 110-04 |15,495,0009 — <713>14,895,000¢4 = 600 14,895 15,495

2) AZFIIRAF 110-04 |1,850,000¢ — <71%>1,700,000¢ = 150 1,700 1,850

3) HHHAHF 320-12 |1,832,0009 — <71%>1,650,00094 = 182 1,650 1,832

A, GFArIn] (Jof Al st AlE) 2,087 55,480 57,567

IDIAR=1 110-04 |27,032,0009 — <7173>26,232,0004 = 800 26,232 27,032

2) 579 110-04 [10,640,000¢ — <71%>10,296,000¢ = 344 10,296 10,640

3) 7Ty 110—-04 |1,352,0009 — <7]1%>1,312,0009 = 40 1,312 1,352

4) 7S94 110-04 |3,400,00091 — <71%>3,000,000¢] = 400 3,000 3,400

5) WAF/IR A 110-04 |1,850,0009 — <717%>1,700,000¢ = 150 1,700 1,850

6) Oj_i]-f,‘—%‘r 110-04 [3,578,000¢ — <71%>3,225,000¢ = 353 3,225 3,578

Y. A FARIAE] (F o] A P &5 AlE) A14,050 88,095 74,045

1) 718+ 110-04 [39,663,0009 — <7]4>47,664,000= 28,001 47,664 39,663

2) 579 110-04 |10,160,0009 — <71%>13,920,0009 = A3,760 13,920 10,160

3) 2214 110-04 |2,892,000¢ — <71%>3,600,000¢ = AT08 3,600 2,892

e N e 110-04 992,000 — <71%>1,192,0009 = A200 1,192 992

5 f¥dIFTI 110-04 |965,0009 — <71%>1,200,0009 = ~235 1,200 965

6) 1= 110-04 [480,000€ — <71%>960,0009 = A480 960 480

7) HAZIR A 110-04 |3,700,000¢ — <71%>3,400,0004 = 300 3,400 3,700

8) A4 110-04 |3,488,0009 — <71%>4,104,000¢ = A616 4,104 3,488

9) W3 E 2)H) 240-02 |1,300,0009 — <71%>1,650,0009= A350 1,650 1,300

Z1EF — Q17N - W] — RARNAN — BEFFA A0




AZ 2B A (193 /2] 7 8)

oA Areiihel % ) ENE AR | A | A
A | Ak

37 497,344 9,920,007 10,417,351
366,040 9,686,429 10,052,469
Z=9S 366,040 9,347,023 9,713,063
=29 19,800 1,976,756 1,996,556
EZgS 0 216,913 216,913
ELgSey 0 216,913 216,913
1. ESaSXYAEH S 0 216,913 216,913
7F ESm S A AE 106,243 106,243
1) Eu e AE Sy 84,838 84,838
7hH W) (A ~EE) 420-03 |7,680,000¢1 x 6] = 46,080 46,080

) YdE ] (A A E) 430-01 |09 — <717%>46,080,0009 = A46,080 46,080
S AR = 19,800 195,906 215,706
Sty T ot g 19,800 79,136 98,936
1. s 19,800 79,136 98,936
7F o stw E e g A4 o] 9 Y 5o 9,000 35,936 44,936
1) 715 210-01 |11,700,0009 — <71%>9,000,0009 = 2,700 9,000 11,700
2) ZM LY 6,300 21,000 27,300
7hH 71 & 210-06 |18,200,0009 — <717%>14,000,0009 = 4,200 14,000 18,200
W %3 210-06 |9,100,000¢) — <7]1%>7,000,000¢1= 2,100 7,000 9,100
U, stpZ g a2z A1a$o 10,800 43,200 54,000
1) ZAg 210-06 |54,000,0009 — <71%>43,200,0009 = 10,800 43,200 54,000
346,240 6,288,137 6,634,377
22737 346,240 6,281,251 6,627,491
A= PRI 22,205 3,433,122 3,455,327
1. FAFA8| A4 21,347 2,825,785 2,847,132
7} A N5,432 64,539 59,107
1) 29 620-03 |59,107,0009 — <71%>64,539,0009 = 5,432 64,539 59,107
U 253w 620—-03 |837,642,0009 — <714>812,317,0009= 25,325 812,317 837,642
o} =8w ~18,619 628,627 610,008
1) 29 620—-03 |547,591,0009 — <714>566,283,00049= A18,692 566,283 547,591
2) A 620—10 |62,417,0009 — <71%>62,344,0009 = 73 62,344 62,417
g, 758k 24,652 683,368 708,020

W - ol EF eSS - RS - 348y - stuaAeY
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By w2y} (k9] - )
woprg A% | BA | AT Akl %A SENE AR | A | A

1) =9 620-03 |370,838,0009 — <71%>352,025,00091 = 18,813 352,025 370,838

2) AHY 620-10 |337,182,000€ — <71%>331,343,00091 = 5,839 331,343 337,182

ul, B8y 620-03 |23,994,00091 — <7]%>28,573,00091 = A4,579 28,573 23,994

2. AR AEANEAY 858 514,010 514,868

AR 620-03 |12,669,00091 — <7]%>14,506,00091 = A1,837 14,506 12,669

U 258w 620-03 |181,432,0009 — <71%>179,070,0009 = 2,362 179,070 181,432

T}, =8k 21,630 159,987 158,357

1) =9 620-03 |143,476,0009 — <71>145,112,0009 = A1,636 145,112 143,476

2) AHY 620-10 |14,881,0009 — <7]1%>14,875,0009= 6 14,875 14,881

2. 158w 2,297 154,154 156,451

1) 29 620-03 |80,823,0009 — <7]%>78,901,0009 = 1,922 78,901 80,823

2) A 620-10 |75,628,00091 — <7]1%>75,253,00091 = 375 75,253 75,628

nh, B4y 620-03 |5,959,000€ — <714>6,293,000¢ = N334 6,293 5,959

SagAEFAA 324,035 2,848,129 3,172,164

LB R A7 TFEAEEE 324,035 2,848,129 3,172,164

7}, e F A7) A 204,830 275,507 480,337

1) x4 620—04 |14,000,00091 — <7]4>12,450,00091 = 1,550 12,450 14,000

2) 258w 620—04 |248,793,0009 — <71%4>147,810,00091 = 100,983 147,810 248,793

3) =8kw 17,942 36,416 54,358

7h ¥ 620—-04 |54,358,0009 — <717>36,416,000¢= 17,942 36,416 54,358

4) =8 74,415 75,631 150,046

7 59 620-04 |70,286,0009 — <7]1%>40,725,00091 = 29,561 40,725 70,286

) AL 620-11 |79,760,0009 — <71%>34,906,0009) = 44,854 34,906 79,760

5) E4stw 620—04 [13,140,000€¥ — <71%>3,200,000€ = 9,940 3,200 13,140

U, FAAAH Y 5 119,205 2,571,023 2,690,228

1) A sssly]dn) QA 119,205 2,516,143 2,635,348

7hH Fd =g x 29,624 14,405 44,029

(1) A2 420-03 |1,894,0009 X 145.9m X 10%= 27,634 27,634

(2) AR 2on) 420-05 |276,335,0009 X 0.72%= 1,990 1,990

) ol9d = 23,451 13,074 36,525

(1) A A 420-03 |1,894,000€1 X 115.5m X 10%= 21,876 21,876

(2) A Ax2on) 420-05 |218,757,0009 ¥ 0.7198%= 1,575 1,575
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B =] 9 3} (k9] - A4
2 o) 1=
woprg A% | BA | AT R BN RESEE 1R AAL | ARARS | B
o AL x 42,740 17,517 60,257
(1) A An) 420-03 |1,894,0009 X 210.5m' X 10%= 39,869 39,869
(2) A|A=2ofu) 420-05 |398,687,0009 x0.72%= 2,871 2,871
2} = 23,390 13,060 36,450
(1) Al 420—03 |1,894,0009 X115.2m' X 10%= 21,819 21,819
(2) NAdFEn] 420—05 |218,189,000¢ X 0.72%= 1,571 1,571
of u]H) 104,236 0 104,236
of ] v] 104,236 0 104,236
oAn| v L7 et 104,236 0 104,236
o v L 7 e} 104,236 0 104,236
AAETT 104,236 0 104,236
1. AXNEZS 104,236 0 104,236
b AR R e 104,236 104,236
1) 25stydtysx g 73x]Y 710-02 [29,976,0009= 29,976 29,976
2) $stETAS LA 710-02 |224,0009= 224 224
\ 3) 87| =FAn A Y 710-02 |74,036,0009= 74,036 74,036
7| €k 27,068 233,578 260,646
Q17H] 27,068 233,578 260,646
Q17 27,068 233,578 260,646
SEAZAH] 27,068 233,578 260,646
IEFFA A1 7n] 27,068 233,578 260,646
1. 283 5FF 4 A8 &g 27,068 233,578 260,646
7} 9] (Wee) A E] AL 3] 35 %] AFo1 7 B] 3,897 52,171 56,068
1) 718+ 110-04 [27,192,0009 — <71 4>26,232,0004 = 960 26,232 27,192
2) 45T 110-04 |8,640,000¢ — <7]1%>7,020,000¢ = 1,620 7,020 8,640
3) HAZIRAE 110-04 | 1,850,0009 — <714>1,700,0009 = 150 1,700 1,850
4) Axp=or 110-04 2,627,000 — <714>2,460,000¢ = 167 2,460 2,627
5 HAAHT 320-12 |5,000,0009 — <7]%>4,000,0009= 1,000 4,000 5,000
. 2l (Wee) AlE 34 2] A1 24 1] 2,257 45,149 47,406
D 715 110-04 127,192,0009 — <71 8>26,232,0009= 960 26,232 27,192
2) HAFIIRAZE 110-04 |1,850,0009 — <71%>1,700,000¢ = 150 1,700 1,850
3) A}k 110-04 2,184,0009 — <714>1,387,00091 = 797 1,387 2,184

716} — el AH] — el AY] — 22Xl AY] —
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gopmy 34 | A | A A 2= S 142304 | 7oAl
o /\]—‘ﬁ /\]—‘ﬁ /\]-‘ﬁ = = = UEH S T 70 s o U=

4) ukE=E E A n) 240-02 |1,000,0009 — <7]%8>650,0009= 350 650

ot 9l (Wee) AlE] A ZA GAFI 211 20,914 99,217

1) 71&% 110-04 |54,384,0009 — <71%>52,464,0009 = 1,920 52,464

2) 25549 110-04 28,800,0009 — <718>11,466,0009= 17,334 11,466

3) WAFR AT 110-04 |3,700,0009) — <714>3,400,000¢ = 300 3,400

4) IR} 110-04 |3,520,0009) — <714>3,310,000¢ = 210 3,310

5) §AAY= 320-12 |9,150,0009 — <7]%>8,000,0009 = 1,150 8,000

Pk - Qgdn] - Qladn] - FRAADN - & TR DALY .




AZ 2B A (193 /2] 7 8)

R EEEE (k] - W 9)

3 fi g NERE 5= e 14374 | Agelae | g
A+ A+

37 A202,665 40,898,302 40,695,637

KT A484,272 36,143,318 35,659,046

UxZ==38 A484,272 32,920,235 32,435,963

| 240,377 17,535,389 17,775,766

12 182,949 15,478,076 15,661,025

IR R | AR 182,949 15,478,076 15,661,025

1. St 7| 2891 66,094 14,386,108 14,452,202

7}. _"2'_;‘(] ) 620—-02 |1,169,495,000¢ — <71%>1,400,437,000¢ = N230,942 1,400,437 1,169,495

U, 25w 620—02 [9,031,377,0009 - <7174>8,769,290,000¢ = 262,087 8,769,290 9,031,377

1:]_. %Q—_ﬁr_ 620—02 |4,251,330,000¢ — <71%>4,216,381,000¢ = 34,949 4,216,381 4,251,330

2. & 7|ele4gu x4 116,855 1,091,968 1,208,823

7}, wErskgrol A ) A 116,855 891,968 1,008,823

1) =538t 620-04 672,648,000¢1 — <7]1%>615,793,000¢= 56,855 615,793 672,648

2) T 620-04 |259,175,0009 — <717%>239,175,0009 = 20,000 239,175 259,175

3) E4stw 620-04 52,000,0009 — <7]14>12,000,0004 = 40,000 12,000 52,000

AR A A Y 57,428 2,057,313 2,114,741

QIABAAATA Y 52,706 1,444,946 1,497,652

1. AAN AR AT ZE 52,706 1,444,946 1,497,652

7} AR A g 620—08 |1,497,652,0009 — <714>1,444,946,000 ¢ = 52,706 1,444,946 1,497,652

LG AAATA Y 4,722 612,367 617,089

1. S9u|AAETRZE 4,722 518,319 523,041

7}, st 7] E-8-9 v 620-09 523,041,00091 - <71%>518,319,000¢= 4,722 518,319 523,041

st Aol AN AT24,649 15,360,068 14,635,419

St A A AT24,649 15,360,068 14,635,419

St A A AN AT24,649 15,005,580 14,280,931

1. IAF A 88,970 2,066,047 2,155,017

7}, vk 75,960 75,960

1) AldH] 75,960 75,960

7H gd¥etx (24 420-03 [12,660,0009 x 62 = 75,960 75,960

(Bl ==R =R h =R Ja 13,010 872,571 885,581

1) AN 13,010 843,707 856,717

7h o]l = (W) 620-04 13,010,0009 x 14 = 13,010 13,010

— SuAEANA - St AR — S A e N
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T4 A A (9] - He)
2 o) 1=

woprg A% | BA | AT RERE ENE Az LAFRA | AR | g

2. A bANA 610,913 4,341,358 4,952,271

RS BN RA 102,600 102,600

1) YA Ss= 7} 102,600 102,600

7H &2 %(170.68m) 420-02 [12,400,0009 x 12 = 12,400 12,400

) 42 % (271%,893m) 420-02 |37,000,000¢ x 14)= 37,000 37,000

b X %= (165.1m") 420-02 |12,400,0009 x 14]= 12,400 12,400

2h) AHE % (700.82m) 420-02 |16,000,000¢ x 14]= 16,000 16,000

b %% (183.6m') 420-02 |12,400,0009 x 14 = 12,400 12,400

vh) AR (183.6m’) 420-02 112,400,0009 x 14] = 12,400 12,400

L W R FA 138,194 138,194

1) A]AdH] 138,194 138,194

7H AR %(691.36m’) 420-03 |131,194,0009 x 14 = 131,194 131,194

W) sh=AnkEAa1(1,056m) 420-03 |7,000,0009 x 12 = 7,000 7,000

o}, =EtolH] E w4 203,625 3,645,545 3,849,170

1) A AN 420—-02 186,401,000 — <7174>78,972,000¢4 = 7,429 78,972 86,401

2) A7) 194,776 3,554,664 3,749,440

7H G99 x 420-03 24,347,000 x84 = 194,776 194,776

3) Al F-tn] 420—05 |13,329,0009 — <71%3>11,909,000¢1= 1,420 11,909 13,329

2t A =L)X # d w A 166,494 166,494

1) A4 165,200 165,200

7hH 93 x 420-03 [33,040,0009 x 1= 33,040 33,040

W) ARz 420-03 |33,040,0009 x 1= 33,040 33,040

) 5% 420—03 [33,040,0009 x 14 = 33,040 33,040

) FAFE 420-03 |33,040,0009 x 221 = 66,080 66,080

2) A HFE-dn] 420-05 |165,200,0009 X0.783%= 1,294 1,294

3. 9| ANA 34,200 839,475 873,675

VAR ] 34,200 201,081 235,281

1) Al4dH] 34,200 188,100 222,300

71 o} % 620—04 |570,0009 X 20m= 11,400 11,400

W) Heon 620—04 |570,000¢) X 40m= 22,800 22,800

4, JRAAVEAF A1,458,732 5,932,233 4,473,501

7z AT760,456 1,502,118 741,662

SuAEARAND - SFuA LA - FuAL

99737
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T4 A A (1 49
woprg A% | BA | AT NERE 5= AU 14374 | Agelae | g
1) AdH] 420-03 [481,204,0009 — <71%>981,204,000¢ = A500,000 981,204 481,204
2) 7+g]H| 420-04 252,555,000 — <7]17%>505,109,0008 = N252,554 505,109 252,555
3) Al EH] 420-05 |7,903,000¢ — <7]17%>15,805,000¢ = A7,902 15,805 7,903
(R = i A292,302 2,069,075 1,776,773
1) 72y 420-04 |283,518,0009 — <714>567,036,00094= ~283,518 567,036 283,518
2) A7 -] 420-05 |8,785,0009 — <7]1%>17,569,0009 = 78,784 17,569 8,785
= = 2L e ~405,974 2,361,040 1,955,066
1 2 420—04 |394,192,0009 — <71%>788,383,0009 = ~394,191 788,383 394,192
2) Al En] 420-05 [11,784,0009 — <7]1%>23,567,0009 = A11,783 23,567 11,784
7] €k 281,607 4,754,984 5,036,591
Q17H] 281,607 4,754,984 5,036,591
Q17iH] 281,607 4,754,984 5,036,591
SEARIZAN] 281,607 4,754,984 5,036,591
IEFFA YA 281,607 4,754,984 5,036,591
1. 28T FF YA AN A 281,607 4,754,984 5,036,591
7}, B8 A Qb X AL A H] 29,484 544,491 573,975
IDIAR=1 110-04 |258,250,0009 — <7]18>248,250,0009 = 10,000 248,250 258,250
2) 579 110-04 62,254,0009 — <7]8>60,138,0009= 2,116 60,138 62,254
3) HEFIIRAT 110-04 |46,250,0009 — <7]4>42,500,000 9= 3,750 42,500 46,250
4) AzpL=or 110-04 25,568,0009 — <7]8>21,383,0009= 4,185 21,383 25,568
5 HAAYHT 320-12 |45,332,0009 — <714>38,263,0008= 7,069 38,263 45,332
6) A7 BRI 320-12 [54,971,0009 — <7]1%>52,607,0009 = 2,364 52,607 54,971
wh ml gk ldn] (sA4%d) 2,250 32,512 34,762
D 7= 110-04 |21,813,0009 — <71 4>20,853,000= 960 20,853 21,813
2) WAFIIRAF 110-04 |1,850,0009 — <713>1,700,000¢ = 150 1,700 1,850
3) A4 110-04 [1,903,0009 — <71%>1,183,0009 = 720 1,183 1,903
4) ARV AHE G 320-12 [3,627,0009 — <71%>3,207,0009 = 420 3,207 3,627
o}, v skl 7] (8ha) 24,251 779,262 803,513
D 71¥5 110-04 |477,763,0009 — <717>459,262,000¢ = 18,501 459,262 477,763
2) w2 110-04 |55,500,0009 — <71 4>56,400,000 = 2900 56,400 55,500
3) 7MESY 110-04 |8,200,0009 — <71%>5,800,000¢ = 2,400 5,800 8,200
4) HAFIIRA T 110-04 |61,050,000¢ — <71 4>56,100,0009= 4,950 56,100 61,050
71EF — 14N — Q18] — ZEAIAN] — wFFFZ Ll AN
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T A A (9] - )
2 o) 1=
woprg A% | BA | AT RERE 2% e 1RFAAE | AR | B

5) ukE=3 E A n) 240-02 30,300,000 — <7]%>31,000,0004= AT00 31,000 30,300
2}, WA AR AR 180,516 2,408,395 2,588,911
1) 7|85 110-04 [1,157,704,0009 — <71%>1,120,104,0009 = 37,600 1,120,104 1,157,704
2) 245 110-04 |518,266,0009 — <7]4>420,966,0009 = 97,300 420,966 518,266
3) 7t 110-04 25,680,0009 — <7]8>22,680,0009= 3,000 22,680 25,680
4) WHF7IRAF 110-04 86,950,00091 — <71%>79,900,000¢1 = 7,050 79,900 86,950
5) Axpgor 110-04 |132,780,0009 — <7]%4>114,869,000¢ = 17,911 114,869 132,780
6) 4th K3 7] Bk 320-12 |228,116,0009 — <7]%>210,461,0009= 17,655 210,461 228,116
u}, #}3FA TRl AN 1,854 56,545 58,399
1) 7|23 110-04 |24,792,0009 — <71%>23,832,0009 = 960 23,832 24,792
9) &gy 110-04 |11,040,0009 — <71%>10,296,000¢ = 744 10,296 11,040
3) HAFIIRAZ 110-04 |1,850,0009 — <71%4>1,700,0009 = 150 1,700 1,850
uh, kR 5 2 o1 An] (3 aw) 12,060 212,095 224,155
1) 7|85 110-04 |117,784,0009 — <71%8>111,417,0009 = 6,367 111,417 117,784
2) &9 110-04 |9,817,0009 — <714>9,285,0009 = 532 9,285 9,817
3) 7|Eb 110-04 |33,100,0009 — <7]1%>33,119,000¢ = A19 33,119 33,100
4) 9AF7IR A 110-04 |11,779,0009 — <71%>11,142,000¢ = 637 11,142 11,779
5) 23R 110-04 |9,276,0009 — <714>4,733,0009 = 4,543 4,733 9,276
A}, AP AL B AL 71 8] (8 ) 1,415 50,586 52,001
1) 7|23 110-04 |24,792,0009 — <7]1%>23,832,000¢ = 960 23,832 24,792
2) 245 110-04 |9,600,0009 — <714>9,360,000¢ = 240 9,360 9,600
3) 7| e 110-04 |5,400,0009 — <714>5,335,0009 = 65 5,335 5,400
4) WHF7IRAF 110-04 |1,850,0009 — <714>1,700,0009 = 150 1,700 1,850
o}. Al e ol AN (3Fw) 27,333 620,415 647,748
1) 7|23 110-04 406,428,000 — <7]4>393,228,0009 = 13,200 393,228 406,428
2) MAFIIR AT 110-04 40,700,0009 — <7]1%>37,400,000¢ = 3,300 37,400 40,700
3) Az 110-04 |27,266,0009 — <7]1%>23,585,000¢ = 3,681 23,585 27,266
4) B AF 320-12 48,115,000 — <7]4>41,620,0009= 6,495 41,620 48,115
5) 4t K3 7] Bk 320-12 140,999,000 — <71%>40,342,0009= 657 40,342 40,999
2} 3 A A ARl A u] 2,444 50,683 53,127
1D 7185 110-04 |24,792,0009 — <7]%>23,832,000¢ = 960 23,832 24,792
2) &7 110-04 10,236,000 — <71%>9,516,0008= 720 9,516 10,236

716} — el AH] — el AY] — 22Xl AY] —

17




R E R

(h9] : 2 9)
] 2 2] Al H = -1 = 5
= PR Wi = = [elam | il T A o3 X _ = /‘\l,x oI = 7] )‘\_]_, 7;(% )‘\_]_,ou Sk
Rus ]: T /\]—Cﬁ /\]-(ﬁ A]"ﬁ ]'?j]’ﬂ = = ﬂ l ELH = 1 ]"l" s} Oﬂ ] fs} Oﬂ = 72”
3) WAS/IR A 110-04 |1,850,0009 — <71%4>1,700,0009 = 150 1,700 1,850
4) AxF 110-04 |3,216,0009 — <7]1%>2,602,0009 = 614 2,602 3,216
Z1eF = Q12H] — AN — FRARJNAY] — B FFA LA
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AEZE A (K8 /4 47 8)

AT g P AlE (9] - )
Z] 24 o 1=}

woprg A% | BA | AT e A% nEe AFRAE | AR | g
A 119,333 6,794,063 6,913,396
TR 119,333 6,794,063 6,913,396
folUxZET S 116,133 3,358,549 3,474,682
LEEX 116,133 3,318,598 3,434,731
AEEXR Y 116,133 1,117,275 1,233,408
LA L 116,133 1,117,275 1,233,408
1. SR a g =N T AL 116,133 1,117,275 1,233,408
| 7h I EA T 116,133 849,512 965,645
D F%tu 210-12 |215,549,0009 — <7|4>194,715,0009= 20,834 194,715 215,549
2 15w 210-12 |263,467,0009] — <714>168,968,00091= 94,499 168,968 263,467
| 3) E5%tn 210-12 |6,199,0009 — <71%>5,399,00091= 800 5,399 6,199
L&At 3,200 3,435,514 3,438,714
S T 3,200 3,386,873 3,390,073
71 &R A E A B2 3,200 86,873 90,073
PFANAEFTA A 3,200 86,873 90,073
1. FRYFA QAE L 3,200 86,873 90,073
b, e A 7 210-01 8,000,0009 — <7]%>6,000,000¢! = 2,000 6,000 8,000
U AR 7 2 2 Al - 1,200 1,200
1) 393 230-02 15,0009 X 10417} x 8.3] = 1,200 1,200

g - wHAN - SN - TR we - PN SEA 4
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AZ 2B A (193 /2] 7 8)

Fd Gl A A etEAH (] A e)
= o i=]
2 $P N o RERE %A% RESE 1A | g | o)
37 A25,269 764,538 739,269
o A16,449 562,507 546,058
ISR A18,249 408,266 390,017
A5FISTER Y A18,249 408,266 390,017
A&} A18,249 408,266 390,017
ASHAFL AR A18,249 408,266 390,017
1. JolAd Tz 7L A18,249 408,266 390,017
7}, o1 7n) A 18,249 354,266 336,017
1) fQojul 1y % mA} 44,666 309,922 265,256
7h B 110-03 |187,200,0009 — <7]4>218,400,000¢ = ~31,200 218,400 187,200
) FAX Y 110-03 136,000,000 — <7]%>42,000,0004 = A6,000 42,000 36,000
o)) AFA kR Dl A Aok AFn] | 210-15 | 15,000,0009 — <7]1%4>17,500,0009 = A2,500 17,500 15,000
) B A& 320-05 |9,440,0009 — <71%>11,800,000¢ = £2,360 11,800 9,440
o)) 4t RE 7] PRk 320-05 |15,636,0009 — <714>18,242,0009 = ~2,606 18,242 15,636
2) A A A 26,417 44,344 70,761
7 AT 110-05 63,600,000 — <7]%>36,000,000¢ = 27,600 36,000 63,600
W) dAxpg 110-05 |09 — <71%4>1,265,0009 = A1,265 1,265
) gAY 320—-13 |09 — <714>3,000,0009 = £3,000 3,000
2} 4t 88 ) DR 320-13 |7,161,0009 — <71%>4,079,0009 = 3,082 4,079 7,161
TSAur 1,800 154,241 156,041
7139 1,800 154,241 156,041
71 224 H| 1,800 154,241 156,041
BB G 1,800 154,241 156,041
| 1. GolAF S F ALY 1,800 154,241 156,041
| 7k 713w 1,800 154,241 156,041
‘ ‘ 1) A]AE9jelg-oIn] 1,800 11,021 12,821
| \ 7h) 3FA A E A o) 210-13 |900,000¢ x 23] = 1,800 1,800
£8,820 202,031 193,211
H] 28,820 202,031 193,211
Q1 AN £8,820 202,031 193,211
2R AN A8,820 202,031 193,211
A&FEA AN £8,820 202,031 193,211
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1. 28 ZFA A AN B 8,820 202,031 193,211
7h A A ] (oA P ek FAlE) 2,211 34,094 36,305
1) 71&% 110-04 [24,792,0009 — <71%>23,832,0009 = 960 23,832 24,792

2) HAFIIR A 110-04 |1,850,0009 — <71%>1,700,000¢ = 150 1,700 1,850
3) HAAHT 320-12 |2,770,0009 — <7]1%>1,750,0009= 1,020 1,750 2,770

4) At R & 7| PG 320—12 |2,049,0009 — <7]18>1,968,0009 = 81 1,968 2,049
w, w skl ] (oAl st Al E) 932 24,362 25,294
D 715 110-04 |15,495,0009 — <7]4>14,895,0009= 600 14,895 15,495

2) EFIIRAT 110-04 |1,850,0009 — <71%>1,700,000¢ = 150 1,700 1,850
3) HAAY= 320—12 |1,832,0009 — <714>1,650,0008= 182 1,650 1,832
oh A AN (FoiA e HFAH) 2,087 55,480 57,567
D 715 110-04 |27,032,0009 — <71 4>26,232,000 = 800 26,232 27,032

2) 2579 110-04 [10,640,0009 — <714>10,296,000 4= 344 10,296 10,640

3) &S 110-04 |1,352,0009 — <71%>1,312,000¢ = 40 1,312 1,352
4) 7VE o 110-04 |3,400,000¢ — <71%>3,000,000¢ = 400 3,000 3,400
5) WAF/IRAF 110-04 |1,850,000€ — <71%>1,700,000¢ = 150 1,700 1,850
6) At 110—-04 |3,578,0009 — <714>3,225,0009 = 353 3,225 3,578
gh, 22| A FARRI ] (o A 3 &5 Al E) A14,050 88,095 74,045
D 715 110-04 |39,663,0009 — <7]4>47,664,0009= 8,001 47,664 39,663

2) 57T 110-04 [10,160,0009 — <7]4>13,920,0009= 23,760 13,920 10,160

3) F24H] 110-04 |2,892,0009 — <71%>3,600,000¢ = ATO8 3,600 2,892
4) ZEAE 110-04 992,000 — <71%>1,192,000¢ = A 200 1,192 992
5 AdLHFFI 110-04 965,0009 — <71%>1,200,0004 = A235 1,200 965

6) 7t 110-04 480,000 — <71%>960,000¢ = A 480 960 480
7) HAFIIR A 110-04 |3,700,0009 — <71%>3,400,000¢ = 300 3,400 3,700
8) A4 110-04 |3,488,0009 — <71%>4,104,000¢ = ~616 4,104 3,488
9) Yr=3 X2 2]H) 240-02 |1,300,0009 — <7]17>1,650,00090= A 350 1,650 1,300
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